For Polygons to be considered similar that must have:
Two figures are similar if:

(1) Congruent Corresponding Angles
All pairs of corresponding angles must be =
b. usually Different Size (gives figures the same shape)

a. Same Shape

(2) Corresponding Sides are Proportional

All pairs of corresponding sides must have
the same ratio

(gives figures different size)
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5 Given these figures are similar state the Similarity Ratio and write
" a Similarity Statement.
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4 Given these figures are similar state the Similarity Ratio
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3 Given these figures are similar state the Similarity Ratio.
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5 Given these figures as similar find the lengths of ME and WC.
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Given these are similar figures: 8
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To show that two polygons are similar
you must show that:

e All pairs of corresponding angles are =.
and

e All pairs of corresponding sides
have the same ratio.

Given these figures are similar find the measure of the missing
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Are this pair of polygons similar?
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Are all pairs of corresponding angles congruent?
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Do all pairs of corresponding sides have the same ratio?
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Problems 2-5, 7, 8, 10, 11, 13, 14



